



USSA-FS2017-34 B Sugarloaf, ME - Tri-State Champs

Sugarloaf, ME Mar 5, 2017 (Sun) (N1469) (N1466)

Head Judge: WEIR, John

Chief of Comp: MCKENZIE, Nathan

T.D.: GAUDET, Dan

Chief of Scoring: HUNTER, Philip Judge 1(T&A): WEIR, John Judge 2(T&A): WEIR, Elizabeth Judge 3(Land): SAWYER,Lonnie Course: Haywire

Head Judge Chief of Scoring

T.D.

Event Date: Mar 5, 2017 (Sun) (By Score) Time: 2:35 pm USSA-FS2017-34 B Sug Aerials

Female/Male

Sugarloaf, ME

No	Bib	Name	Gp ==	Rep	J.1	J.2	J.3	Judge	Manuvr	DofD	Run	Event
			71-									
	26	HARVEY, Sadie	F.T.2	Gsr		+4.6						
						+3.0		9.0				
								28.90	TS	1.700	49.13	
					1.8			5.3				
					+4.3	+4.6	+4.7	13.6				
						+2.9						
								27.70	S	_1.600	44.32	93.45
2	31	KELLER, Caroline	F13	Lon								
1						+4.1						
								27.40	mе	1 700	46.58	
1				1	2.0				15	1.700	40.50	
						+4.4						
1				ı		+2.9				I	Í	
								28.00	T	1.600	44.80	91.38
3	34	LEWIS, Taylor	F15	Gsr								
						+4.0						
i				i		+2.6						
								26.00	TS	1.700	44.20	
				'	2.0	+4.8		6.0		'		
						+3.0						
1				- 1				28.80	ח	1.620	46.65	90.85
4	32	KELSEY, Lila	F15	Wva	2.0	$-\frac{1}{1}.\frac{3}{9}$	2.0	5.9		-=:3=3		
- 1						+4.1						
					+2.9	+2.9	+2.9	8.7				
- 1					=8.7	=8.9	=8.9	26.50	S	1.600	42.40	
					1.8							
- 1						+4.2						
						+2.9			D D	1 740	45 00	00 22
	<u>-</u> -	WALSH, Caroline	₽1 5	Lor	=8.8 -1-0	_=¤.8 	=8.8 1 0	26.40	םם		45.93	88.33
3	36	WALSH, Caroline	FIJ	гоп		+3.4						
						+2.6						
								24.30	DD	1.740	42.28	
					2.0	1.9			22			
						+4.6	+4.5	13.6				
					+3.0	+3.0	+3.0	9.0				
					=9.5	_=9.5	=9.5	28.50	S	_1.600 ₁	45.60	87.88
6	42	MORSE, Toril	F15	Wva						- [
				١		+4.2				I	ĺ	
						+2.3			_	1 600	41 10	
					=8.6	=8.5	=8.6	25.70	S	1.600	41.12	

vent Date: Mar 5, 2017 (Sun)
By Score) Time: 2:35 pm

No	Bib	Name	Gp	Rep	J.1	J.2	J.3	Judge	Manuvr	DofD	Run	Event
				===	1.8	1.9	2.0	5.7		=====		
						+4.0						
Li				i		+2.9				i		
			,-,-			_=8.8			TS	_1.700	45.05	86.17
7	57	WARNER, Kaya	F13	Lon		1.8				·		
						+4.1 +2.8						
Li				i				25.90	Д	1.620	41.95	
						1.8		5.5	2	1.020	11.50	
				i	+4.2	+4.0	+4.4	12.6		i		
						+2.9						
L +								26.90	S	_1.600 ₊	43.04	84.99
8	43	MULLALY, Hannah	F.T.3	Lon								
L				ı		+3.8 +2.9				1		
								24.90	TS	1.700	42.33	
				ı		1.9						
						+3.9						
l				ı		+2.7				1		
					=8.6	_=8.5	<u>=8.6</u>	25.70	S	_1.600	41.12	83.45
ا ا	37	LUPTAKOVA, Suzanna	F.T.1	Wva		1.7				1		
						+3.5 +2.7						
l i				ı				24.10	S	1.600	38.56	
					1.8			5.6	-			
L				ı	+4.4	+4.6	+4.5	13.5		1		
						+3.0						
L = - +									N	_1.560 ₊	43.83	82.39
10	38	MACHADO, Sofia	F13	Gsr		1.7 +3.0						
l				1		+2.6						
								21.70	DD	1.740	37.75	
l						1.8						
					+3.9	+3.8	+3.8	11.5				
l				1		+2.9						
┞╶╻┧		DOMETING GENERAL			=8.6	_=8.5	_=8.7 1-7-	25.80	TS	_1.700	43.86	81.61
l ^{⊥⊥} ∣	21	DOWLING, Sophia	F.T.T	Car		+4.1						
						+2.8						
l								26.30	S	1.600	42.08	
					1.2			3.6				
lι				- 1	+3.3	+3.1	+2.8					
						+2.8						
+	,-,-	DAV Tigala						21.30	TS	_1.700 ₊	36.21	78.29
12	13	DAY, Lindley	r.T.3	тoп		1.9 +3.0						
				١		+2.8				I		
								23.70	D	1.620	38.39	
					1.8	1.8	1.9	5.5	_	- 1		
						+2.8						
						+2.9			_			
		HOTMEC Dalas						22.80	SS	_1.700	38.76	77.15
13	∠8	HOLMES, Paige	F13	wva		1.3						
						+4.3						
				I				24.20	S	1.600	38.72	
					1.3	1.1	.9	3.3	2		· -	
				I	+3.9	+4.2	+3.6	11.7		I		
						+2.8						
+								23.60	N	_1.560	36.81	75.53
14	40	MITCHELL, Sabin	F17	Wbk		1.7						
				I		+2.8 +1.0				I		
								17.10	S	1.600	27.36	
						- • •	- • •	- · · · - ·				

Event Date: Mar 5, 2017 (Sun)
(By Score) Time: 2:35 pm

No	Bib	Name	Gp	Rep	J.1	J.2	J.3	Judge	Manuvr	DofD	Run	Event
===	===			===	1.9	1.9	1.8	===== 5.6				
						+4.2						
						+2.9						
						=9.0			TS	1.700	45.56	72.92
15	22	EICHEL, Jordana	F13	Lon			1.3	+				
		•				+3.5						
						+2.5						
					=6.7			20.70	T	1.600	33.12	
					1.8							
						+3.8						
						+2.6			0	1 (00	20 20	70 20
16		SMITH, Jocelyn	EO 0			$\begin{array}{c} -8.1 \\ 1.4 \end{array}$		24.50 4.6	<u>s</u>	-I.POOD	39.20	72.32
1 10	34	SMITH, JOCETYN	rus	топ		+3.8						
				ĺ		+2.9		1		ĺ		
								24.80	s	1,600	39.68	
					1.8		1.8		_			
						+2.8	+2.8	8.1				
				i		+2.1				i		
L]					=6.5	_=6.7	=6.7	19.90	T	1.600	31.84	71.52
17	51	SAITOW, Taylor	F11	Lon		1.1						
						+3.0						
'						+2.7			_	1 600	22.60	
					1.3			20.80	ע	1.620	33.69	
						+3.3						
						+2.8						
								22.50	S	1.600	36.00	69.69
18	29	HOLMES, Sydney	F09	Wva		1.1				_=:::::::		
		, , ,				+3.2						
						+2.9						
					=7.2		=6.8	21.20	N	1.560	33.07	
					1.0	1.1	. 9					
						+3.6						
					+3.0	+2.7	+3.0	8.7	0	1 600	24 70	67 70
-1-0-	1-0-	CRAGG, Reid	F09		= / . 2	$-\frac{2}{1.6}$	$\frac{=7.1}{1.2}$	21.70 3.8	S	-I-POO	34.72	67.79
19	12	CRAGG, Reid	r U 9	wva		+1.0						
						+.3	+.1					
				ı				7.30	s	1.600	11.68	
					1.0		.9		_			
					+3.0	+3.0						
					+2.9	+2.9	+2.8	8.6				
					<u>=6.9</u>	_=7.0	=6.5	20.40	N	1.560	31.82	43.50
			·	. <u></u>				 <u>-</u> <u>-</u>				
1	130	SHEEHAN, Michael	M15	Wva								
						+4.5						
						+2.8		8.2 27.30	7.~	3 35U	64.97	
						1.9			/ O.X	2.500	04.31	
						+4.6						
						+3.0						
								28.60	5-G	2.150	61.49	126.46
2	67	ANANTH, Naveen	M13	Lon		1.9						
						+4.7						
								8.9				
l '								29.10	TS	1.700	49.47	
						1.9						
						+4.4 +2.7						
								26.70	3.0	1 910	50.99	100.46
3	74	BAVARO, Gaetano To	м11	Wva	1.8	1.8	1 . 6	1 <u>2 3 • 7 0</u> • 5 . 2				100.40
 						+4.3						
						+2.8						

Date: Mar 5, 2017 (Sun) Time: 2:35 pm Female/Male

No		Name	Gp	Rep	J.1	J.2	J.3	Judge	Manuvr	DofD	Run	Event
				<u>.</u>				26.30	3	1.780	46.81	
					1.8			5.3				
						+4.0 +2.7						
								25.60	5-	2 020	51.71	98.52
4	131	SMITH, Caiden	M13	Lon	1.8	<u>5.5</u> -	1.91	5.6				
		,				+3.3						
						+2.8						
								24.40	TTS	1.800	43.92	
						2.0						
						+4.4						
									3x	1.900	54.15	98.07
5	119	MICHAUD, Teddy	M15	Car					 .	-=====	9	
		, ,				+4.3						
					+3.0	+2.9	+3.0	8.9				
								27.80	TTS	1.800	50.04	
						1.9						
						+4.0 +2.8						
								26.40	ጥጥጥ	1.800	47.52	97.56
6	65	ALEXANDER, Digby	M13	Wva	2.0	<u>i.</u>	1.8	5.7		-====	<i></i> -	
		. 3 1				+4.5						
						+3.0						
								28.20	3	1.780	50.19	
						1.9						
						+4.7 +3.0						
								28.70	S	1.600	45.92	96.11
₇ ⊣	91	GAUDET, Zachary	M11	Wbk	1.3	<u>i.š</u> -	1.3	3.9		-=====	 -	
		, -			+3.9	+3.1	+3.2	10.2				
						+1.9						
								18.90	bPX	2.120	40.06	
				l	2.0	2.0 +4.7	2.0			l		
						+3.0						
				l				29.30	3X	1.900	55.67	95.73
8	87	DAVIS, Hayden	M11	Sug	2.0	1.9	2.0	5.9		-=	33372	
		· -		-		+4.7				l		
						+2.8						
				ļ				28.50	S	1.600	45.60	
						1.9 +4.2						
						+2.9						
								26.90	TT	1.700	45.73	91.33
9	71	BABB, Kyle	M15	Wva	1.8		1.8	5.4				
						+4.3						
						+3.0				1 500	45 70	
					=8.9 1.8	=9.1 1.9	=8.9 1.9	26.90 5.6	TT	1.700	45.73	
				 		+4.5				 		
						+2.9						
								27.80	T	1.600	44.48	90.21
10	75	BLAKEMAN, Noah	M11	Wva	1.7	$-\bar{1}.\bar{7}$	1.6	5.0				
						+4.3				 		
						+2.7			_	1 700	45 56	
				 				25.60	3	T. /80	45.56	
					1.8	1.7 +4.4		5.3 13.3				
						+3.0						
								27.60	S	1.600	44.16	89.72
11	90	EGAN, Jack	M11	Car	1.8	1.8	1.8	5.4				
						+3.1						
				l	+2.8	+2.9	+2.8	8.5		l		

Date: Mar 5, 2017 (Sun) Time: 2:35 pm

No ===		Name	Gp ==	Rep	J.1	J.2	J.3	Judge ====	Manuvr	DofD	Run	Event
						=7.8			TS	1.700	38.76	
					2.0			5.8				
						+4.7 +2.9						
								28.40	3	1.780	50.55	89.31
12	82	CHRISTIAN, James	M13	Wva		1.8						
						+3.8 +2.7						
								7.6 24.60	3	1.780	43.78	
				i		1.7			·	1		
						+3.0						
						+2.7			3X	1 900	43 89	87.67
13	68	ANANTH, Toshi	M11	Lon	1.8	$-\frac{1}{1}.\frac{1}{8}$	$\frac{1}{1}.7$	5.3	<u>-</u>	-1.300		
		•			+4.2	+4.4	+4.3	12.9				
						+2.7			_	1 600	40.06	
						=8.9 1.8		26.30	G	1.630	42.86	
				 		+4.3						
						+3.0						
┠╗╗	107					_ = 9.1 1.8		27.10	S	_1.600	43.36	86.22
14	107	LITTLEFIELD, Chase	MIII	Car		+4.2						
						+2.8						
								27.70	TS	1.700	47.09	
						1.6 +3.0						
						+2.7						
					=6.9	=7.3	=6.7	20.90	3	1.780	37.20	84.29
15	120	MULLALY, Jack	M11	Lon		1.9		i e				
						+3.3 +2.9						
				i				25.50	TTS	1.800	45.90	
					2.0	1.8	1.6	5.4				
						+2.8						
						+2.3		6.6 20.60	3	1.780	36.66	82.56
16	108	LONG, Keenan	M13	Wva	1.4	$\bar{1.5}$	1.3	4.2		-=		
					+3.6	+3.1	+3.5	10.2		ļ		
						+2.8		8.6 23.00	c	1 600	36.80	
						1.7			S	1.0001	30.00	
					+4.5	+4.5	+4.3	13.3				
				I		+2.9			37	1 560	40 07	70 07
17	111	LONG, Peyton	м11	Wva		_=9.1 		27.10	<u>N</u>	-I·200	42.27	79.07
- '		Lone, regeon				+4.2						
						+2.8						
					=8.7 1.6			25.60 4.9	Т	1.600	40.96	
						+3.2				I		
					+2.9	+2.8	+2.8	8.5				
<u> </u>				' <u>-</u> -				23.10	S	_1.600	36.96	77.92
18	129	SAITOW, Zachary	M13	Lon		1.4 +2.8						
				ĺ		+2.7				Ī		
					=7.3	=6.9	=7.4	21.60	TS	1.700	36.72	
						1.8						
						+2.8 +2.8						
					=7.2	=7.4	=7.1	21.70	TTS	1.800	39.06	75.78
19	113	MAHADY, Henry	M09	Lon	1.8	$\bar{1.7}^{-1}$	1.7	5.2		† ا		
						+3.9 +2.8						
				ı	TZ.0	+∠.ŏ	TZ.0	0.0		· ·		

Event Date: Mar 5, 2017 (Sun)
(By Score) Time: 2:35 pm

No		Name	Gp	Rep	J.1	J.2	J.3	_	Manuvr	DofD	Run	Event
===	_===		==	===		====		•		1.600	40.64	
						1.1		3.3	5	1.000	40.04	
						+3.4						
						+2.8						
	1 2 4	OVER III III III III III III III III III I	7.7					21.50	T	_1.600	34.40	75.04
20	134	SMITH, Tommy	MI3	Lon		+3.9						
								8.2		i		
					=8.3	=8.5	=8.4	25.20	3	1.780	44.85	
						1.8						
						+2.9						
						+1.8		18.80	S	1.600	30.08	74.93
21	125	ROCK, Eli	M11	Wva	1.8	2.0	1.8	5.6	<u>-</u>			
		•			+4.3	+4.6	+4.5	13.4				
						+2.9			_			
						=9.5 1.2		27.70 3.6	G	1.630	45.15	
						+2.7						
						+1.5		4.5				
L				ا ا	=5.5				3	1.780	28.83	73.98
22	126	ROYALL, Tate	M11	Car		1.1						
						+2.7 +1.8				'		
								17.00	3	1.780	30.26	
						1.8						
						+3.7						
						+2.9				1 600	40.64	70.00
23	115	MARAVELL, Dante	M13	Ger	=8.8 1-6	=8.4 1-7	_=8.Z 14	25.40	S	-ī·ēōō	40.64	70.90
23	113	MAKAVELLI, Dance	шэ	931		+3.0						
					+.5			1.4				
								15.50	3G	1.910	29.60	
					1.8	1.9 +3.5						
						+2.9						
								24.00	TS	1.700	40.80	70.40
24	136	WARNER, Andreas	M09	Lon	1.4	-1.7	1.4	4.5				
						+2.8						
						+2.6		7.9	N	1 560	31 00	
								3.3	N	1.300	31.90	
						+3.1						
						+2.8				i		
						$=\frac{7}{1} \cdot \frac{0}{6}$			T T	1.700	34.68	66.66
25	114	MAHADY, Luke	MII	гоп		1.6				1		
						+2.0						
							=5.7	17.10	N	1.560	26.67	
					1.6							
						+2.9						
						+2.8 =7.5		8.5 22.20	χq	1.720	38.18	64.85
26	84	CRAGG, Jack	M11	Wva	1.0		- - ' : 3 - 7	† <u>-</u>	<u></u>	-=		
		•				+3.0	+3.0	9.0				
					+.5	+.5	+.5				00 5 5	
					=4.5 1.2			13.10	S	1.600	20.96	
						1.2 +3.0		4.0 8.8				
						+2.7				l		
L	. – – – –				=7.0	=6.9	=7.1	21.00	N	1.560	32.76	53.72
27	88	DOLAN, Lance	M13	Car						— — Т І		
						+4.4 +2.7						
<u>'</u>					⊤∠. 9	TZ./	TZ./	0.3				

Aerials

Event Female/Male (By Score)
Sugarloaf, ME USSA-FS2017-34 B Sug Date: Mar 5, 2017 (Sun) Time: 2:35 pm

No	Bib	Name	Gp	Rep	J.1	J.2	J.3	Judge	Manuvr	DofD	Run	Event
===	===		==	===	====	====	====	=====	======	=====	=====	======
					=9.3	=9.0	=8.8	27.10	DD	1.740	47.15	
									DD	1.740	dnf	47.15
28	104	LEWIS, Camden	M09		1.8							
					+3.9	+4.3	+4.2	12.4				
						+3.0						
					=8.7	=9.1	=9.2	27.00	S	1.600	43.20	
									S	1.600	dnf	43.20

Winfree 2017.15, B Rules, Rand=603 @ 8:35a(17-3-5), A, Not Elim